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QUESTIONS
1. The chance of surviving a runaway truck incident are better if you are not wearing your seatbelt. T__, F__

2. Most modern highway trucks are equipped with air/hydraulic braking systems. T__, F__

3. Fail-safe brakes require air or hydraulic pressure to keep the brakes: a) activated, b) released.

4. Types of brakes usually found on highway trucks include: a) shoe and drum, b) caliper disk, c) full disk or wet disk, d) a and b are correct, e) a, b, and c are correct..

5. The service brake is the primary brake for stopping a highway truck. T__, F__

6. The parking brake knob is used: a) to hold the vehicle in place when parked, b) to activate the fail-safe spring-emergency stopping brake, c) a and b are correct.
7. Highway trucks have a: a) tractor-parking-only control that applies only the tractor brakes, b) control that allows application of the trailer brakes, c) a and b are correct.

8. A retarder or dynamic braking system: a) is primarily to protect the service brake from excess heat and save wear, b) can stall the engine if the specified engine speed is not maintained, c) is the preferred means of speed control when traveling down grades, d) c is incorrect, e) a- c are correct.

9. Information on truck capacities, speeds, maximum grades and stopping distances is necessary to properly design mine haul roads. T__, F__

10. Long grades requiring constant application of the brakes, may cause them to overheat and fail. T__, F__

11. Engine brakes along with trailer brakes are the preferred means of speed control on grades. T__, F__

12. When driving over a blind crest, haul truck speed should be: a) below 5 miles per hour, b)  slow enough so you can stop if you meet another vehicle, c) both a and b are correct. 

13. Of the following road types, the most dangerous is: a) one lane roads with 2-way traffic, b) two lane roads with two way traffic, c) roads designed for one way traffic. 

14. Berms are required: a) on all haul roads, b) where there is a drop-off on the side that is steep enough for a truck to overturn.
15. The width of a haul road with two-way traffic should be the berm width plus __ times as wide as the largest vehicle: a) 2, b) 2 1/2, c) 3, d) 3 ½ , e) 4.

16. A single lane one-way traffic road should be the berm width plus __ times as wide as the largest vehicle: a) 1 ½, b) 2, c) 2 ½, d) 3

17. The width of a haul road should be increased on curves. T__, F__

18. Haul roads should not be sloped. T__, F__

19. Haul roads are typically designed so that rain has little affect on truck safety. T__, F__

20. Guardrails must be __ times the mid-axle height of the largest vehicle traveling the roadway: a) ½ , b) 1, c) 1 ½ , d) 2

21. Berms must be __ times the mid-axle height of the largest vehicle traveling the roadway: a) ½ , b) 1, c) 1 ½ , d) 2

22. Berm height requirements are to ensure that berms are: a) capable of stopping a runaway truck, b) capable of assisting the operator to steer a haul truck back onto the roadway. 

23. The berm face should be cut at an abrupt angle to raise the wheel when it hits the berm and to minimize any ramping affect that would permit the truck to ride over the berm. T__, F__

24. Berms do not need any openings: T__, F__

25. Large boulders are recommended for use in building berms .T__, F__ 

26. Any guardrail of sufficient height can be used to replace a berm. T__, F__

27. A straddle berm: a) is sometimes referred to as a center berm, b) cannot be wider than the distance between the wheels of the haul trucks, c) is a valuable means to help stop a runaway truck, d) helps prevent head-on collisions, f) a-d are correct, e) none are correct.

28. Escape or runaway lanes are not:  a) used on steep grades to stop a runaway vehicle, b) the best restraint system in terms of minimizing injury and equipment damage, c) made up of a loose base material and a steep upward grade, d) cautioned against because they cause considerable damage to the vehicle and endanger operators. 

29. Runaway vehicle fatalities are contributed to by: a) overloading, b) driving too fast for conditions, c) not knowing specifics about haul roads, d) not being aware of other traffic using the haul road, e) starting downgrade in a higher gear than needed to get upgrade, f) improper functioning retarder, h) a-f are correct, i) only a, b, and e are correct.

30. If you lose control you should not: a) keep your seat belt on, b) jump free of vehicle, c) fully apply retarder, d) use emergency brake if service brake fails, e) look for center berms or escape lanes to assist in stopping, f) stop as soon as possible,  set parking brake,  block vehicle movement and summon help, g) none are correct. 
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ANSWERS
1. The chances of surviving a runaway truck incident are better if you are not wearing your seatbelt. T__, F__
2. Most modern highway trucks are equipped with air/hydraulic braking systems. T__, F__

3. Fail-safe brakes require air or hydraulic pressure to keep the brakes: a) activated, b) released.
4. Types of brakes usually found on highway trucks include: a) shoe and drum, b) caliper disk, c) full disk or wet disk, d) a and b are correct, e) a, b, and c are correct..

5. The service brake is the primary brake for stopping a highway truck. T__, F__

6. The parking brake knob is used: a) to hold the vehicle in place when parked, b) to activate the fail-safe spring-emergency stopping brake, c) a and b are correct.
7. Highway trucks have a: a) tractor-parking-only control that applies only the tractor brakes, b) control that allows application of the trailer brakes, c) a and b are correct.
8. A retarder or dynamic braking system: a) is primarily to protect the service brake from excess heat and save wear, b) can stall the engine if the specified engine speed is not maintained, c) is the preferred means of speed control when traveling down grades, d) c is incorrect, e) a- c are correct.

9. Information on truck capacities, speeds, maximum grades and stopping distances is necessary to properly design mine haul roads. T__, F__

10. Long grades requiring constant application of the brakes, may cause them to overheat and fail. T__, F__

11. Engine brakes along with trailer brakes are the preferred means of speed control on grades. T__, F__

12. When driving over a blind crest, haul truck speed should be: a) below 5 miles per hour, b)  slow enough so you can stop if you meet another vehicle, c) both a and b are correct. 

13. Of the following road types, the most dangerous is: a) one lane roads with 2-way traffic, b) two lane roads with two way traffic, c) roads designed for one way traffic. 

14. Berms are required: a) on all haul roads, b) where there is a drop-off on the side that is steep enough for a truck to overturn.

15. The width of a haul road with two-way traffic should be the berm width plus __ times as wide as the largest vehicle: a) 2, b) 2 1/2, c) 3, d) 3 ½ , e) 4.

16. A single lane one-way traffic road should be the berm width plus __ times as wide as the largest vehicle: a) 1 ½, b) 2, c) 2 ½, d) 3

17. The width of a haul road should be increased on curves. T__, F__

18. Haul roads should not be sloped. T__, F__
19. Haul roads are typically designed so that rain has little affect on truck safety. T__, F__
20. Guardrails must be __ times the mid-axle height of the largest vehicle traveling the roadway: a) ½ , b) 1, c) 1 ½ , d) 2

21. Berms must be __ times the mid-axle height of the largest vehicle traveling the roadway: a) ½ , b) 1, c) 1 ½ , d) 2

22. Berm height requirements are to ensure that berms are: a) capable of stopping a runaway truck, b) capable of assisting the operator to steer a haul truck back onto the roadway. 

23. The berm face should be cut at an abrupt angle to raise the wheel when it hits the berm and to minimize any ramping affect that would permit the truck to ride over the berm. T__, F__

24. Berms do not need any openings: T__, F__
25. Large boulders are recommended for use in building berms .T__, F__ 

26. Any guardrail of sufficient height can be used to replace a berm. T__, F__
27. A straddle berm: a) is sometimes referred to as a center berm, b) cannot be wider than the distance between the wheels of the haul trucks, c) is a valuable means to help stop a runaway truck, d) helps prevent head-on collisions, f) a-d are correct, e) none are correct.

28. Escape or runaway lanes are not:  a) used on steep grades to stop a runaway vehicle, b) the best restraint system in terms of minimizing injury and equipment damage, c) made up of a loose base material and a steep upward grade, d) cautioned against because they cause considerable damage to the vehicle and endanger operators. 

29. Runaway vehicle fatalities are contributed to by: a) overloading, b) driving too fast for conditions, c) not knowing specifics about haul roads, d) not being aware of other traffic using the haul road, e) starting downgrade in a higher gear than needed to get upgrade, f) improper functioning retarder, h) a-f are correct, i) only a, b, and e are correct.

30. If you lose control you should not: a) keep your seat belt on, b) jump free of vehicle, c) fully apply retarder, d) use emergency brake if service brake fails, e) look for center berms or escape lanes to assist in stopping, f) stop as soon as possible,  set parking brake,  block vehicle movement and summon help, g) none are correct. 

